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QUESTION 1

What type of cluster can a Security Group can be compared to? 

A. VSLS 

B. Load Sharing Active /Active 

C. Active / Backup 

D. Active / Standby 

Correct Answer: B 

 

QUESTION 2

What is the purpose of g_tcpdump command? 

A. Collects traffic dump from Sync network 

B. The same as tcpdump, just on Scalable Platform 

C. Collects traffic dump from CIN network 

D. Collects traffic dump from all Active Appliances within Security Group 

Correct Answer: D 

 

QUESTION 3

There are two 10Gbps dual-port NIC installed on a 6800 appliance. Which interfaces should be connected to
Orchestrator 1 for downlinks\\' intra-orchestrator redundancy when using two Orchestrators? 

A. Port 1 in Slot 1 and Port 2 in Slot 1 

B. Port 1 in Slot 2 and Port 2 in Slot 1 

C. Any pair of available ports 

D. Port 1 in Slot 1 and Port 1 in Slot 2 

Correct Answer: D 

 

QUESTION 4

How many power supplies are presented on MHO-140? 

A. 2 
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B. 4 

C. 1 

D. 1 with option for 2 

Correct Answer: A 

 

QUESTION 5

There is a Security group of 10 Appliances and all of them are up and running. How many Appliances within a Security
Group keep the same connection in its connection table in case of NAT? 

A. Between 2 and 4 

B. 3 

C. All 10 

D. 2 

Correct Answer: A 
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